2RXS J193528.5+534545

gamm*bbdy

930732 0287

1.00

Energy/keV

0.10

1.00

Energy/keV

0.10

- —
— B _
[T i
—— i
:|MIHI I [TTE R R [TTR NN I B [T TR :
7 Y N ?
= S = S
(A93 s zwd)/suojoyd
B LLLLILIL I S L1110 N |11 R N e LI LA |
S :
[ _
: TR O R 11N 0 N AN A B (TR N A MH|||:
7 8 7 Y
s & g g

(A s)/s3uno)

8.56E-02

1.39E-12

Spec rate
Flux
Ny =

5.73E-01

+—-
+—-

1.00E-03

5.11E-01
6.36E-04

+—

6.25E-01
8.61E-04

T [keV] =
Norm

—— .
i
+

%

=dRNRRARRRRARNRN]

R
i

—

i

*k

0.10

™

N —- o

s[enpisay

10

X2req = 1.065

Energy/keV



